


T—EnbR5BAE

YRR T4E BERR
4 FRTHEAE
4-1. EEEEREER 4-2. TAREEKE
(CERR164E ) (SRR 164EEE)

MR M 4 | A% || s | [EG] o4& | % [TE] s
1 BB B M 99.7| 1 99.6 13z JIE _th 100.0] 1 100.0
2 |5 =i 99.0 | 2 99.0 1 [REHF M 100.0 | 1 100.0
3 |/ ¥ T 98.9 | 3 98.9 1=k =ik 100.0 | 1 100.0
2= b 98.4| 4 98.3 1 | H 100.0 | 1 100.0
5 k& AT 97.5| 5 97.2 1 B B m™ 1000 1 100.0
6 [FF F T 96.7| 7 96.6 1 | A ™™ 100.0 | 1 100.0
T /& HH 96.6 | 7 96.6 1 /& FH h 100.0| 1 100.0
T -Pa- g1 96.6 | 6 97.0 1L/ 1000 1 100.0
9 |P #H T 96.1| 9 96.1 1 R #F b 100.0 | 1 100.0
10 |E 3 Tk 95.8 | 15 93.1 1B 2 100.0 | 1 100.0
11 BRAEXT 95.7 | 10 95.6 1 &AM 100.0 | 1 100.0
12 |[E 45 FF 94.8 | 11 95.0 1 B L ™ 100.0 | 1 100.0
13 3R K fn 93.7] 13 93.6 1 |RAEX™ 100.0| 1 100.0
1I3|NEFh 93.7 | 12 94.2 1 |REENILm 100.0 | 1 100.0
15 f M 1 93.5| 14 93.2 1 [ ERERM 100.0 | 1 100.0
16 (3 #F 1 93.1] 16 93.0 16 [ KX fn 99.9 | 16 99.9
17|12 E 92.4 | 17 92.4 16 (& B 99.9 | 16 99.9
18 B W 91.9] 18 91.8 18 |7F #M T 99.8 | 18 99.8
19 |1% ¥ ™™ 90.2 | 19 90.0 19 |H & F 99.2 | 19 99.2
198 B ™ 90.2 | 19 90.0 201 A ™ 98.3 | 19 98.2
21 [ R ™ 89.9 | 21 89.3 21|1%F # ™ 92.9 | 21 92.7
22 |REAT LT 82.5 | 22 82.5 22 |8 | ™ 90.8 | 22 92.3
23 BT H T 80.7 | 24 79.8 23 INEFTH 90.6 | 23 87.6
24 | # T 80.4 | 23 80.4 24|18 B ™ 84.9 | 24 83.5
26 [F& W T 79.0 | 25 78.7 25 |b&B5HFH 82.7 | 26 80.6
26 [H&DEH 66.3 | 26 65.4 26 BT H 82.4 | 25 81.9

26 ™ B 91.7 91.4 26 ™ 97.0 96.8
TERLIZ VB NERL & v IR
- 26T R I THE B AR A F 26 26 FERIIA T FAREL RBEE 26
- THIE DR - [ERR164EEE THETATAE AERBIRRAED
E&[ %ﬁi’ﬁ%@ﬁmﬁg FRL16FE GRS RCEESRER) |

90




YRR 1 TAEBERR

T —Fho RAtEAE

4 FTh A

4-1. 757 HEREEE (ERI6EE) Hi.%

18 4 e Hi £

RRE

] W iE

& HiE

HErdE

I f {02 1E

m i £

HC R E

& aff {£

o it {E

w3 E

16 |17 |18 |19 19|21 |22 |23 |24|25|26

€ £

JHME

& K = e

H R £

12113 |13 |15

I < BE XK 1E

E = £

10| 11

REE

9

EHE

7

SHEKE

&£

* B {E

1] e {E

T BE

i HI=E

i e e

4-2. 57 TKEEERE (ER16EE) B{u: %

EHE

B HE

o B 1

JHNE

RRE

Hr £ 4E

RIEE

Hl R # £

19120 |21 (22|23 |24|25(26

Ho B 4E

18

o i e

16

| KKRIE

16

HEl 18 {0z 1E

1

BREIE

K EEKE

SHE

KB E

H 4= £
KEIE

SH{E

SHEKE

R E

Eaf e

841

1] & {&

i e e

T H=E

1

91



T—IbROBE

TERR1T4E BERR
4 FTAE
= 3 - — A Mo N
4-3. FHLFRHE 4-4. (ﬁﬁ%ﬁ\g\;gg)ﬂmﬁ%ﬁﬁ
(EBR154E10A1R) (ERR164EE)

NESZ| & | BA% (o | mewde | [Ez| o 4 | Brood [J0F] s
1 |hE2HT 271 72.5 1| E 125 1 12.3
2 |F B W 66.8| 2 63.7 2 |f& W 9.9 2 8.9
3 |[RAEXM 58.5 | 10 46.8 N TiTh 8.8 3 8.6
4 I KFm 58.3| 5 51.8 4 @ ETF 6.3] 4 6.3
5 [ A b 55.5| 8 49.1 4 | H& W 6.3| 5 6.2
6 [EERAT LT 54.1| 4 55.1 6 |&F # 571 6 5.7
Tl h 53.9] 6 50.1 7 (B S H iR 56| 8 4.9
T8 & 53.9] 3 55.7 8 |IF & 55| 7 5.6
goIalL M 53.8| 7 49.6 9 | B 0 42| 9 4.2
10 (& & 50.8 | 21 41.5 10|/ H ™ 4.11] 10 3.9
11| 5 m 48.11] 12 45.5 11 [ K f 3.8 11 8.7
12 /b & FH 47.3] 16 43.2 12 |36; Hloe 1 3.4 12 3.4
13 |6 B 1 47.11] 18 42.7 13 [BREER LT 3.3] 13 3.2
14 |/ ¥ T 46.0 | 15 43.5 4 (7§ ¥ 3.0 | 14 2.8
5% E T 459 | 13 43.7 15 |[H&DEH 2.6 | 15 2.6
16 |E 4 F 11 45.7 | 11 45.8 16 |EH s 2.5] 16 2.5
17 & H 1 45.6 | 14 43.6 == B -thh 917 2.0
18 |f& R E 44.7] 9 47.2 18 [/ T 1.8] 18 1.8
19 8 T ™ 44.2 | 20 41.6 19 7@ # 1.6 19 1.6
2017 ® 43.5| 19 41.7 20 8 T T 1.5 20 1.5
2LEINE ] 41.8 | 17 42.9 20 |k 1.5] 21 1.4
2 (kAT 41.7 | 22 40.8 2 R B H 1.4] 22 1.3
23 |BE -3 i 40.8 | 26 35.9 23 R #&F Wi 12 1=a3 1.2
24|/ @ 40.5 | 23 39.5 24 |E &> 7 1.0 | 24 1.0
25 |R Bk B 39.3 | 24 36.5 25 |/ & H i 0.9] 25 0.9
2651=. [ b 39.1] 25 36.2 25 [ R R ™ 0.9] 25 0.9

26 ™ ¥ By 49.2 46.4 26 T ¥ B 3.9 3.8
AT MERLIZ v IR
26T A TRFFE LB EF 26 -REE wAD
-HIEEERLL04E10H 1H 26T NI E T — A B D& 35E 26

-RIEIO P BRI B EER - BRATOSHE
- TR EE LHIF R TIERE RBER

ar/R)

1X0EH

92

- [TERR164FEE THRTH A s IR A R
(RRERER) | XEH




T BB A S

4 Fh A

4-3. 7357 FHLRHE (ER154E10818) B %

100.0

900

80.0 TF

700 |68

60.0 . SB; 533 S5 BATEITEINIE

500 - HHH r 48.1 473 41.1 45, 4T 447435

" : A E i 2 418417 408 405

40 § - =it ‘ 39.3 393;1

300 H —-

200 HH

100 H HH =

oo b ARAR L b
b F IR E| R X /| BEEB/NB|N Fic]
EBAXHEEINHB RS S F ®
S\ @ || F || w3 =
54 K ||| il il
il il i1l
112]3[4[5[6/[7[7/|9/[10{11[12]13[14]15/16/17/18(19|20|21|22|23 |24 |25 |26

4-4. 757 WR—ALYBHARSER(TILEDH)
(ERL164EEE) BLL:m

14.0

12.0

100

8.0

6.0

40

20 \ B0 0o 08

o AN RN
Z B\ x B F B KK S EIREIEB|NBE
B W E & HEB DB ANEIF SRR
| F|&|h|thjd ||| BIEH W|F HIE

o E R R )
il

112]3[4|4[6(7[8|9/[10[11/12{13]14[15(16|17|18!19|20 20|22 |23 |24 2525

93




T b ROmAE

= YRR L T4E FERR
4 FRTERE
= — A7 A = =5 W /AN A S
4-5. ?ﬁmﬁzﬁﬁfﬂ; éﬁjﬁ;ﬁ%ﬁﬁ 4-6. —HHYVAEFEELE
(FRR165EE) (CEER164EEE)

Weir| W 4 | WMz |J0E[weewnr | DEez| w0 o4 | e [T mmsa
1 (R 15084 17.8 1 |F ® 1 1.3] 1 1.3
2 | B T 15.1] 2 14.8 2 e EAEM B e ) 1.1
3 PN T Th 12.0] 3 11.6 3-H-- Bl 0.8] 3 0.9
4 | W ™ 99| 5 8.9 450N F Fith 06| 4 0.6
5 B B ™ 98] 4 9.8 a8 i o 0.6 4 0.6
6 |ars Il TR 85| 7 8.5 4 |b&DHH 0.6] 4 0.6
T lH B 8.0] 8 7.8 T O F H 05| 7 0.5
8 IR Kfnm 79| 6 8.6 TR & d 05 7 0.5
9 (BT B T 76112 6.2 9 |5 B ™ 0.4] 9 0.4
10 |/FF ®H m™ 74| 9 7.5 105 M 10 0.2] 10 0.2
11 /h & FHH TS &I 7.2 10 BT H T 0.2 10 0.2
12 k& £ W 6.7 | 11 6.7 10 (% B 0.2 10 0.2
13 & m 6.3 12 6.2 13 | & BMm 0.1] 13 0.1
4|1F B ™ 59| 14 5.9 3= B - 0.1] 13 0.1
1578 # ™ 55| 15 5.5 By/h&HT 0:1.] 13 0.1
16 | #F W1 H 4.7] 16 5.0 13 | #&F 0.1} 13 0.1
17 | &R B BF W 4.3.1°17 4.3 13 IR K fn i 0.1] 13 0.1
185= W 4.11] 18 4.1 13 |[REBMA LS 0.1] 13 0.1
18 [HEXDHEH 4.1] 18 4.1 9|\ & m 0.0 19 0.0
20|/ ¥ hm 3.0| 20 2.8 19 |/ F 0.0] 19 0.0
21/ W™ Rl Lo 2.7 19 |[H & s 0.0} 19 0.0
2=1E - N T 2.0.]1 22 2.6 19|H x ™ 0.0] 19 0.0
23 B & S 2:2.1:23 2.2 19 T 0.0] 19 0.0
24 |[HAE.kT 2.1 24 2.0 19 |RAEXM 0.0 19 0.0
25 P8 T T 1.8] 25 1.7 19 |fa B T 0.0 19 0.0
26 [ B R ™ 1.0 | 26 1.2 19 [/ X X f 0.0] 19 0.0

26 T Ilf ¥ 6.5 6.4 18 1 F &y 0.4 0.4
BRI WIE HABELTOAEED R
-RmE AR JERLIEEVE
26T NI AT — AHTDEF 26 -NEEEFE EEERBEIERK

- ERE164EEE ARTATAJE MR R R
FUTERTER) | X B H

94

I 8THEMIAEEEZE T AT OEHME
» [TLRR164FBE THETAM A IEfEsR R PR A i 3R
(RERFHRER) IXvEH




T —EnbRAEE

YRR TEEBERR

4 FT A

20.0
18.0
16.0
140
120
100
8.0
6.0
40
20
0.0

4-5. 757 WR—ANU-YPHLAESEE

(MARCTIEZLUNDOAE) CER16EE) B

2.0

15

1.0

0.5

0.0

4-6.- T2

—HFHLYAEFEHE (FRI6EE) HA:%

@ T

FHHNH=

0.1 01 01 01 01

B M@“ 00 00 00 00 00 00 00 00
SIMEIRIR|BRNNE E B R B E
M2 |# K & & T 5 LT A RKE
RE R R R R A R A
L R L X Ll
L i
1313 [13(13 13 |19 {19 {1919 |19 |19 |19 19

95




T —ZbRoOEA

4 BT

YR TAEEERR

4-7. GEEREE AR

4-8. PLEBRFEEAR

-4-BEKIBERFEEA B (4F[H) 7366 -
- RERR 4R AR R R

) I1XhEH

96

(—H¥H) (F[H)
(154 BE) (ERR155EEE)

JREHEH BAfi7: A ATAEE JREMH | BEA:TA ATEFEAE
S I BR 145,697 143,205 M Jii R 53,325 52,270
B i JIl BR 6,117 5,995 i JIl BR 2,239 2,188
R oH # B 7,139 7,310 R’ o5 & R 2,613 2,668
oo B 9,557 9,277 B 3,498 3,386
Hm & &R 23,877 23,356 m B | 8,739 8,525
*x F B R 26,016 25,882 *x F B R 9,522 9,447
* 4 E B 4,287 4,315 * 4 & B 1,569 1,575
* & A& B¢ 16,096 16,170 * & £ R 5,891 5,902
BN R 14,087 13,836 D I 5,156 5,050
Ho OB 18,005 18,060 o~ R 6,590 6,592
fl 8 BR 13,443 13,408 7 3 &R 4,920 4,894
HF R 6,852 6,819 ”EF B R 2,508 2,489
7 B B 7,724 7,652 H O R 2,827 2,793
JREAM#& | Hf:A AIFEE JRERAM#AR | BEAL:FA AR
* fE JII BR 1,421 1,337 * RE JII BR 520 488
B OBk B OER 4,951 4,907 oK B R 1,812 1,791
B JII B 7,454 7,460 & JIIl B 2,728 2,723
k5 H B 4,090 4,430 B 5| H B 1,497 1,617
Rk # F BR 2,951 3,041 e F R 1,080 1,110
R F A HER 4,836 4,811 R T B HER 1,770 1,756

JR\ &% B A A EfE JRI\E# BAL:FA BIEHCE
* R & AR 1,134 964 * @\ AR 415 352
AR i BR 3,768 3,890 AR i R 1,379 1,420
TRETRE AT IIET B TR TR 2 T PTE  BBR

- [ERR154FEE FURERRE AR (RUR RS

@) |




?ﬁ&ﬁ)%ﬁéﬁéﬁ ERR TR

4 FRH A

4-1. (NT57 SBEERRHEAR (—HTH)
BiniR (CERUISERE) B A

160,000
145,697
140,000 [
120,000
BEH
100,000
80,000
60,000
40,000
23,877 26,016
gy 6117 9,557 e
X B K 8 B Ok x « PN m B B
I i th | 5 # &® ko) ol 13 ) -1 5
ER n b ER ER 5 E & ER R R i3 ER
ER ER ER ER &R ER
4-1. (27357 SERREAR (—HEH)
FETHR. /\EHR (ERI5ERE) B A
30,000
26,016
25,000
A HMHE § I\=8
20,000 :
15,000
10,000
7.454
5,000 2,951
0 . B A & ; m
* ® Bl B iy B * b1
& Ul J 5 B 5 = B
n 2 R ]| 1 £ = =~
ER 3 H F B & 5
R R g R R

97




T —2nbRoEA

AR TEEBERR

4 FRTH A

60,000

50,000

40,000

30,000

20,000

10,000

4-8. (1)757 SHEERRFEHEAR (FR)

B (ERISEE) BA:TA

10,000
9,000
8,000
7,000
6,000
5,000
4,000
3,000
2,000
1,000

4-8. (2)7357 SEEREEAR (M)

FETH. /\EE (ERI5EE) B FA

o ok |

HHET#H

2728

1,812

1,770

a1o

o |

I

n

il
pupe

K
[
k)
B
i
&R

o |

98




